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Goals:
> Find slopes of lines.
» Use slope to identify parallel and perpendicular lines.
» Write an equation of a line given information about its graph.
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e Have you seen this notation? sz , read delta y over delta x. !

e A isa Greek symbol that mathematicians and scientists use to represent the change in a value.

Find the slope for the following lines, choose two points on each line and use the slope formula.
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%+ Parallel lines have Slopes that are | Ny

% Perpendicular lines have slopes that are /910‘0” 9; lo {ec, Q Y (S‘
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The opposite reciprocal of 1 is ]

The opposite reciprocal of _?3 is 5

L
The opposite reciprocal of 5 is -5
] L
The opposite reciprocal of -3 is o
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Equations of Lines
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% Slope-Intercept Form: ~\ — I’ 1t O

Write the equation in slope-intercept form of the line with slope of 4 and y-intercept of 1.
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% Point-Slope Form: u - U 2 ( X=X, )
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Write the equation in point-slope form of the line whose slope is l that contains (3, -7)
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Example 1: Write an equation in slope intercept form for line ¢, if the line contains the points (-1, 6) and|(3, 2).
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2. Use point-slope form: ‘i _ C{L - 54 >
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Example 2:  Write an equation in slope- znz‘ercept form for a hne containing (2, 0) that is perpendicular to the
liney=-x+5 % Y,
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2. Use point-slope form:

3. Solve for y: ‘. ‘ . %"; 'l g = A
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